recoToSim) tracks vs normalized x? |

[{

[N o associated

[N of reco track vs normalized x2 ]

track x?

o

berset

0924 6 8 10 12 14 16 18 20

syoen areandnp syoen areandnp oney

16 18 20
track x2

8 10 12 14

6

CELEFTRRA L VTR

3
4

Biif

syoel axey oney syoel) axyey oney

0

2

track x2

10 12 14 16 18

FINAEA

8

n
n

0
[¢]

6
i
i

S
S

T
it

el
el

4
v

B
VEBIEER-propToplane BB

[
=) ~

syoesy angy oney

18 20
track x2
ORIGH

=

10 12 14 16

8
— &

[ Nof reco track vs.

T

syoell oney




	Contents
	Page 1


